- CERA (KA £ 164)

( DL Adke pliEE 7 > kLB HLT5]RE?
(D OFf @d za . @f%p)

(D2 EL L FER THEER . g1 Rk gk ?
@ @ ©F @)

(D3 ToAE e (5023, hE Rk ?

<®5x%x§ ®5xzx§ ®5x%x3 @5x2x3)

S BRI (FR2A X 204)
LT A AN g R B B FEeE 3 5L
3 2 2 3 2 2
2 (922 432HY="72 “ 2
(D) 77 (23 35) 77( )23( )35

1.2 1 y_ql 2 1

2 _ql\.ql_o2 1 1 L
(3) (2; 13).33 25( )33( )13( )33
11 2 3NV _oll 2 11
S PEE I (FLALS X A0 )
12 -2 = 9. 22 412x0) =
4 5 7 3 5 7

245



3. 2 xl+92= 4. g3:12x9l=
4 8 4 773

15

5. 25431 —42— 6. 42x(33:4%)=
5 15 3 3 7 5

302 )3 34t —97 )=
1. (ZZXZE).S 8. 35><(42 29)

9. 22x12 472227 = 10. (53 444y L=
5 21 9 5 7 5 35

246



o AL (FALAL > E 2UA)
1. wwﬁﬂ¥1%+ﬁﬁ%%w%#»ﬁ@%ﬁ%x?3%+ﬁﬁWﬁ
AR HE £ 5 R SR A FR R

2. %%ﬂ&?zgé%ﬁ%’ww&}ﬁ%ﬁgz%’%%xméﬂ

B fh o R R ARBILS 02T fp ?

3 ;}’é}(;}iﬁ’ﬁ 7% o % R AR e B R AR ml— g ,_:]_FFE
S AL s aa 0

247



5 1&§%—§5%’9§DM%92’M¥
LS SRS B

., 2/ 7] 1z A a- L
6. B4kt - H 8§2—1m&é’1w€7 R

' 2 2 =~ [ A= o N 2 5
A S oA

248



- CERHE(FHLA S E8A)
¢ L g%D+§:1’D‘* Jo .~ T S| oR— (B e ?

(®5><3 ®5><5 ®7><5 @7><3>

Tx35 7x3 5%3 5%5

()2 - £4EsE Wi 2 kel T )T ehl o SR dR e
3 3
K- =3 e
1 2 1 1
@ © - @)
3 3 6 9
P E BT R E O oS

(1) 42x75 =52 x4> = x( = ) o

(2) et TR S ( + )

11 1 3.3_3 333
(D3xg%s  — %5%7 @)gx—7 — G
2.2.3 2.02,3 1,605 1.5.7

(3)7'5'11 7 (5X11> (4>2X5X7 2.6 5
2 3,7 2_(3_7 24344 2403 _4
(5)5 7+_9 5 (7 9) (6>3+_4%_5 3+(4 5)

249



3. 3L —l4+13H= 4 92:13:2
2 5 4 5 9

D. 52.(25><18) 6. (14 15)X37

7. 33 431x12 412 = 8 62x7L —92y71 =
10 5 4 6 3 8 9 8

9. 2> +62:22 = 10. 33 x99l _g3 —
18 375 77712

4

250



BB (FAAA 0 £ 284)

L.

—&&ﬁﬁaﬁﬂ@’@»«ﬂﬁaﬁaia%ﬁ,&«&1@&5

E8 o FREKRFM2E LB ?

2|~

’ 1 1 - » 2
—iﬂuﬁf"? 7§;}k;1 » IR

B A FR B e LSS 2T 7

251



5. 37 2 AMSE, U SES [T K 1200 il > o B ER
7
PRT A 1022 B 0 A IS B I 2T £ 7

5L s3I 9

6. RSk R 5 T0 00 20 et B 2k AR

S A

=1 g R R

2/};’ &&‘Eﬁgé%’gaﬁ‘%&%*"ﬁ"]Sg%ﬁ’ﬂaﬂ:qqﬁ%

252



L CEBM: (FM5A £ 204)
( Ol r1§+224i

BT 5

2 TSR AR ?
(D18+3:92 @22 16:3 @16—<2_ _> OYI=INEN
7 4 3 7 4 7 7 8 3
r — = g 7 I’/"" 71 ,_»1}—\: "'p‘-'_gg’gz;'z )
¢ 2 "3 122538 THESF R EAR
(5 _92 S _92y.97
(@3—.< 25> @(12 25>38
8 705 o2
@— ? S @3ix(2—23) )
_1 1 _1 1 N I
¢ 3.0 9%13»u Dx(1=Dx(1= D=2
@l ol ! @-)
2 5 6
()47 ve ~AZBF DB s e x%—bx—ﬁx— S
z \ﬁgﬁg;fa—‘ﬁﬁx—k?

(@e @ @7

@- #+)
P ER I (FHELHL X DB04)
3;2 l l—l =
Lo 2#:(5x3)+ (5 =)

7 1ol 12 35
2. 3 —|—22><(1§ J )

3. 43 83:32 = 4, 2+ 453113 %0=
4 9 3 11 7 9 4

253

)



5. HX8 3><11 111 : 6. (1+3) (1 3)><8

7. 22 +(12-23)= 8 4291 _93_
4 3 6 3 28 5

9. 52 —33 4+1= 10. ﬁ+(zi+3i):
9 15 20

7 3 120

254



3.

2.

"'*5?2 AEET k9

E’E’——J
.

9

» £ 30 &)

.I‘Z.ff}gﬂ'?ﬂ}a EZ]\%‘%’-Q;.&;? Zﬁ,‘}r{ :,“
oo mIBpT SS9

LN

(o)

AR - BEE 25 ,}'ﬂéﬁ’}\,ﬁ ,
’F‘?F’a“?

2 4 7

e — (=

_ e T P T e A =T R D
15 p

255



EERE N LR

Hbﬁ%ﬁiﬂﬁﬁ%ﬁaAééz’g%ﬁﬂj

<

DR T A B A AL S ST e

256

3
A 4 I 2 E ®H 2
S < 2 EEY q,\g_
3
F 343 2R

»



